http://communications.science.ankara.edu.tr

Commun.Fac.Sci.Univ.Ank.Ser. A1 Math. Stat. Volume 71, Number 2, Pages 422–433 (2022) DOI:10.31801/cfsuasmas.890932 ISSN 1303-5991 E-ISSN 2618-6470



Research Article; Received: March 4, 2021; Accepted: November 2, 2021

ON CERTAIN BIHYPERNOMIALS RELATED TO PELL AND PELL-LUCAS NUMBERS

Anetta SZYNAL-LIANA¹, Iwona WŁOCH¹, and Mirosław LIANA²

¹Rzeszow University of Technology, The Faculty of Mathematics and Applied Physics, al. Powstańców Warszawy 12, 35-959 Rzeszów, POLAND ²Rzeszow University of Technology, The Faculty of Management, al. Powstańców Warszawy 10, 35-959 Rzeszów, POLAND

ABSTRACT. The bihyperbolic numbers are extension of hyperbolic numbers to four dimensions. In this paper we introduce the concept of Pell and Pell-Lucas bihypernomials as a generalization of bihyperbolic Pell and Pell-Lucas numbers, respectively.

1. INTRODUCTION

Let consider Pell and Pell-Lucas numbers which belong to the family of the Fibonacci type numbers, for details see [14]. We recall that the *n*th Pell number P_n is defined by $P_n = 2P_{n-1} + P_{n-2}$ for $n \ge 2$ with $P_0 = 0$, $P_1 = 1$. The *n*th Pell-Lucas number Q_n is defined by $Q_n = 2Q_{n-1} + Q_{n-2}$ for $n \ge 2$ with $Q_0 = Q_1 = 2$.

For the nth Pell number and the nth Pell-Lucas number the explicit formulas have the form

$$P_n = \frac{(1+\sqrt{2})^n - (1-\sqrt{2})^n}{2\sqrt{2}}$$
$$Q_n = (1+\sqrt{2})^n + (1-\sqrt{2})^n.$$

The above equations are named as Binet type formulas for Pell and Pell-Lucas numbers, respectively. For other properties of P_n and Q_n see [5,6,9]. In [7] Horadam and Mahon introduced Pell and Pell-Lucas polynomials and next their properties were studied among others in [4].

422

©2022 Ankara University

Communications Faculty of Sciences University of Ankara Series A1 Mathematics and Statistics

²⁰²⁰ Mathematics Subject Classification. 11B39, 11B37.

Keywords. Pell numbers, recurrence relations, hyperbolic numbers, bihyperbolic numbers, polynomials.

Corresponding author: aszynal@prz.edu.pl; 00000-0001-5508-0640

²iwloch@prz.edu.pl; ⁰0000-0002-9969-0827

²²mliana@prz.edu.pl; ⁰0000-0001-5801-1755

ON CERTAIN BIHYPERNOMIALS RELATED TO PELL AND PELL-LUCAS NUMBERS 423

Let x be any variable quantity. Polynomials $P_n(x)$ and $Q_n(x)$ defined as follows

$$P_n(x) = 2x \cdot P_{n-1}(x) + P_{n-2}(x)$$
 for $n \ge 2$ with $P_0(x) = 0, P_1(x) = 1$

$$Q_n(x) = 2x \cdot Q_{n-1}(x) + Q_{n-2}(x)$$
 for $n \ge 2$ with $Q_0(x) = 2, Q_1(x) = 2x$

generalize Pell and Pell-Lucas numbers and they are called as Pell polynomials and Pell-Lucas polynomials, respectively. Clearly $P_n(1) = P_n$ and $Q_n(1) = Q_n$.

Let

$$\alpha(x) = x + \sqrt{x^2 + 1}, \quad \beta(x) = x - \sqrt{x^2 + 1}$$
(1)

be roots of the characteristic equation for the Pell and Pell-Lucas polynomials. Then solving this equation we have

$$P_n(x) = \frac{\alpha^n(x) - \beta^n(x)}{\alpha(x) - \beta(x)}$$
(2)

and

$$Q_n(x) = \alpha^n(x) + \beta^n(x), \qquad (3)$$

respectively.

We recall selected identities for Pell and Pell-Lucas polynomials, which will be used in the next part of this paper.

Theorem 1. [7] Let n be an integer. Then

$$P_{n+1}(x) + P_{n-1}(x) = Q_n(x) = 2x \cdot P_n(x) + 2P_{n-1}(x), \text{ for } n \ge 1,$$
(4)

$$Q_{n+1}(x) + Q_{n-1}(x) = 4(x^2 + 1)P_n(x), \text{ for } n \ge 1,$$
(5)

$$\sum_{l=1}^{n-1} P_l(x) = \frac{P_n(x) + P_{n-1}(x) - 1}{2x}, \text{ for } n \ge 2,$$
(6)

$$\sum_{l=1}^{n-1} Q_l(x) = \frac{Q_n(x) + Q_{n-1}(x) - 2 - 2x}{2x}, \text{ for } n \ge 2.$$
(7)

For Pell numbers and Pell polynomials we can find different generalizations given by the kth order linear recurrence relations, $k \geq 2$. One of the fundamental generalization of Pell polynomials is Horadam polynomials which describe a wide family of polynomials defined by linear recurrence relations of order two. Some properties of the Horadam polynomials can be found in [8]. Horadam polynomials play an important role in the theory of hypercomplex numbers, for details see [12–14]. In this paper we will use Pell and Pell-Lucas polynomials in the theory of bihyperbolic numbers.

Let \mathbb{H}_2 be the set of bihyperbolic numbers ζ of the form

$$\zeta = x_0 + j_1 x_1 + j_2 x_2 + j_3 x_3,$$

where $x_0, x_1, x_2, x_3 \in \mathbb{R}$ and $j_1, j_2, j_3 \notin \mathbb{R}$ are operators such that

$$j_1^2 = j_2^2 = j_3^2 = 1, \ j_1 j_2 = j_2 j_1 = j_3, \ j_1 j_3 = j_3 j_1 = j_2, \ j_2 j_3 = j_3 j_2 = j_1.$$
(8)

From the definition of bihyperbolic numbers follows that their multiplication can be made analogously to the multiplication of algebraic expressions. The addition and the subtraction of bihyperbolic numbers is done by adding and subtracting corresponding terms and hence their coefficients.

Since the addition and multiplication on \mathbb{H}_2 are commutative and associative, so $(\mathbb{H}_2, +, \cdot)$ is a commutative ring.

Note that bihyperbolic numbers are a generalization of hyperbolic numbers. For the definition of hyperbolic numbers and their properties see [10, 11]. For the algebraic properties of bihyperbolic numbers see [1].

A special kind of bihyperbolic numbers, namely bihyperbolic Pell numbers, were introduced in [2] in the following way.

The *n*th bihyperbolic Pell number BhP_n is defined as

$$BhP_n = P_n + j_1 P_{n+1} + j_2 P_{n+2} + j_3 P_{n+3}.$$
(9)

By analogy

$$BhQ_n = Q_n + j_1Q_{n+1} + j_2Q_{n+2} + j_3Q_{n+3}$$
⁽¹⁰⁾

is the nth bihyperbolic Pell-Lucas number. Note that some combinatorial properties of bihyperbolic Pell numbers we can find in [3].

Based on definitions of BhP_n and BhQ_n we introduce Pell and Pell-Lucas bihypernomials.

For $n \geq 0$ Pell and Pell-Lucas bihypernomials are defined by

$$BhP_n(x) = P_n(x) + j_1 P_{n+1}(x) + j_2 P_{n+2}(x) + j_3 P_{n+3}(x)$$
(11)

and

$$BhQ_n(x) = Q_n(x) + j_1Q_{n+1}(x) + j_2Q_{n+2}(x) + j_3Q_{n+3}(x),$$
(12)

respectively. Note that $BhP_n(1) = BhP_n$ and $BhQ_n(1) = BhQ_n$.

2. Main results

In this section we will give some identities for Pell bihypernomials and Pell-Lucas bihypernomials.

Theorem 2. Let $n \ge 0$ be an integer. For any variable quantity x, we have

$$BhP_n(x) = 2x \cdot BhP_{n-1}(x) + BhP_{n-2}(x) \text{ for } n \ge 2$$

$$\tag{13}$$

with $BhP_0(x) = j_1 + j_2 \cdot 2x + j_3 \cdot (4x^2 + 1)$ and $BhP_1(x) = 1 + j_1 \cdot 2x + j_2 \cdot (4x^2 + 1) + j_3 \cdot (8x^3 + 4x).$

Proof. If n = 2 we have

$$BhP_{2}(x) = P_{2}(x) + j_{1}P_{3}(x) + j_{2}P_{4}(x) + j_{3}P_{5}(x)$$

= $2x + j_{1} \cdot (4x^{2} + 1) + j_{2} \cdot (8x^{3} + 4x) + j_{3} \cdot (16x^{4} + 12x^{2} + 1)$
= $2x \cdot (1 + j_{1} \cdot 2x + j_{2} \cdot (4x^{2} + 1) + j_{3} \cdot (8x^{3} + 4x))$
+ $j_{1} + j_{2} \cdot 2x + j_{3} \cdot (4x^{2} + 1)$
= $2x \cdot BhP_{1}(x) + BhP_{0}(x).$

Let $n \geq 3$. By the definition of $P_n(x)$ we obtain

$$BhP_n(x) = P_n(x) + j_1P_{n+1}(x) + j_2P_{n+2}(x) + j_3P_{n+3}(x)$$

$$= (2x \cdot P_{n-1}(x) + P_{n-2}(x)) + j_1(2x \cdot P_n(x) + P_{n-1}(x))$$

$$+ j_2(2x \cdot P_{n+1}(x) + P_n(x)) + j_3(2x \cdot P_{n+2}(x) + P_{n+1}(x))$$

$$= 2x (P_{n-1}(x) + j_1P_n(x) + j_2P_{n+1}(x) + j_3P_{n+2}(x))$$

$$+ P_{n-2}(x) + j_1P_{n-1}(x) + j_2P_n(x) + j_3P_{n+1}(x)$$

$$= 2x \cdot BhP_{n-1}(x) + BhP_{n-2}(x),$$

which ends the proof.

Using the same method we can prove the next result.

Theorem 3. Let $n \ge 0$ be an integer. For any variable quantity x, we have

$$BhQ_n(x) = 2x \cdot BhQ_{n-1}(x) + BhQ_{n-2}(x) \text{ for } n \ge 2$$

with $BhQ_0(x) = 2 + j_1 \cdot 2x + j_2 \cdot (4x^2 + 2) + j_3 \cdot (8x^3 + 6x)$
and $BhQ_1(x) = 2x + j_1 \cdot (4x^2 + 2) + j_2 \cdot (8x^3 + 6x) + j_3 \cdot (16x^4 + 16x^2 + 2).$

Note that some identities for $BhP_n(x)$ and $BhQ_n(x)$ can be found based on identities for Pell and Pell-Lucas polynomials mentioned in the introduction of this paper.

Theorem 4. Let $n \ge 1$ be an integer. Then

$$BhP_{n+1}(x) + BhP_{n-1}(x) = BhQ_n(x) = 2x \cdot BhP_n(x) + 2BhP_{n-1}(x).$$

Proof. Using (4) we have

$$\begin{split} BhP_{n+1}(x) + BhP_{n-1}(x) \\ &= P_{n+1}(x) + j_1P_{n+2}(x) + j_2P_{n+3}(x) + j_3P_{n+4}(x) \\ &+ P_{n-1}(x) + j_1P_n(x) + j_2P_{n+1}(x) + j_3P_{n+2}(x) \\ &= (P_{n+1}(x) + P_{n-1}(x)) + j_1(P_{n+2}(x) + P_n(x)) \\ &+ j_2(P_{n+3}(x) + P_{n+1}(x)) + j_3(P_{n+4}(x) + P_{n+2}(x)) \\ &= Q_n(x) + j_1Q_{n+1}(x) + j_2Q_{n+2}(x) + j_3Q_{n+3}(x) \\ &= BhQ_n(x). \end{split}$$

On the other hand

$$\begin{aligned} &2x \cdot BhP_n(x) + 2BhP_{n-1}(x) \\ &= 2x \cdot (P_n(x) + j_1P_{n+1}(x) + j_2P_{n+2}(x) + j_3P_{n+3}(x)) \\ &+ 2 \left(P_{n-1}(x) + j_1P_n(x) + j_2P_{n+1}(x) + j_3P_{n+2}(x)\right) \\ &= \left(2x \cdot P_n(x) + 2P_{n-1}(x)\right) + j_1(2x \cdot P_{n+1}(x) + 2P_n(x)) \\ &+ j_2(2x \cdot P_{n+2}(x) + 2P_{n+1}(x)) + j_3(2x \cdot P_{n+3}(x) + 2P_{n+2}(x)) \\ &= Q_n(x) + j_1Q_{n+1}(x) + j_2Q_{n+2}(x) + j_3Q_{n+3}(x) \\ &= BhQ_n(x). \end{aligned}$$

Theorem 5. Let $n \ge 1$ be an integer. Then

$$BhQ_{n+1}(x) + BhQ_{n-1}(x) = 4(x^2 + 1)BhP_n(x).$$

Theorem 6. Let $n \ge 2$ be an integer. Then

$$\sum_{l=1}^{n-1} BhP_l(x) = \frac{BhP_n(x) + BhP_{n-1}(x) - BhP_0(x) - BhP_1(x)}{2x}.$$

Proof. For an integer $n \geq 2$ we have

$$\begin{split} &\sum_{l=1}^{n-1} BhP_l(x) = BhP_1(x) + BhP_2(x) + \dots + BhP_{n-1}(x) \\ &= P_1(x) + j_1P_2(x) + j_2P_3(x) + j_3P_4(x) \\ &+ P_2(x) + j_1P_3(x) + j_2P_4(x) + j_3P_5(x) + \dots \\ &+ P_{n-1}(x) + j_1P_n(x) + j_2P_{n+1}(x) + j_3P_{n+2}(x) \\ &= P_1(x) + P_2(x) + \dots + P_{n-1}(x) \\ &+ j_1(P_2(x) + P_3(x) + \dots + P_n(x) + P_1(x) - P_1(x)) \\ &+ j_2(P_3(x) + P_4(x) + \dots + P_{n+1}(x) + P_1(x) + P_2(x) - P_1(x) - P_2(x)) \\ &+ j_3(P_4(x) + P_5(x) + \dots + P_{n+2}(x) + P_1(x) + P_2(x) + P_3(x) \\ &- P_1(x) - P_2(x) - P_3(x)). \end{split}$$

426

Using (6) we obtain

$$\begin{split} &\sum_{l=1}^{n-1} BhP_l(x) = \frac{P_n(x) + P_{n-1}(x) - 1}{2x} \\ &+ j_1 \left(\frac{P_{n+1}(x) + P_n(x) - 1}{2x} - P_1(x) \right) \\ &+ j_2 \left(\frac{P_{n+2}(x) + P_{n+1}(x) - 1}{2x} - P_1(x) - P_2(x) \right) \\ &+ j_3 \left(\frac{P_{n+3}(x) + P_{n+2}(x) - 1}{2x} - P_1(x) - P_2(x) - P_3(x) \right) \\ &= \frac{P_n(x) + P_{n-1}(x) - 1}{2x} \\ &+ j_1 \frac{P_{n+1}(x) + P_n(x) - 1 - 2x}{2x} \\ &+ j_2 \frac{P_{n+2}(x) + P_{n+1}(x) - 1 - 2x - 4x^2}{2x} \\ &+ j_3 \frac{P_{n+3}(x) + P_{n+2}(x) - 1 - 2x - 4x^2}{2x} \\ &+ j_3 \frac{P_{n+3}(x) + P_{n+2}(x) - 1 - 2x - 4x^2 - 2x(4x^2 + 1)}{2x} \\ &= \frac{P_n(x) + j_1 P_{n+1}(x) + j_2 P_{n+2}(x) + j_3 P_{n+3}(x)}{2x} \\ &+ \frac{P_{n-1}(x) + j_1 P_n(x) + j_2 P_{n+2}(x) + j_3 P_{n+2}(x)}{2x} \\ &+ \frac{-(0+1) - j_1(1+2x) - j_2(2x + (4x^2 + 1)) - j_3((4x^2 + 1) + (8x^3 + 4x))}{2x} \\ &= \frac{BhP_n(x) + BhP_{n-1}(x) - BhP_0(x) - BhP_1(x)}{2x}. \end{split}$$

Thus the Theorem is proved.

Theorem 7. Let $n \ge 2$ be an integer. Then

$$\sum_{l=1}^{n-1} BhQ_l(x) = \frac{BhQ_n(x) + BhQ_{n-1}(x) - BhQ_0(x) - BhQ_1(x)}{2x}.$$

Now we give Binet type formulas for Pell and Pell-Lucas bihypernomials.

Theorem 8. (Binet type formula for Pell bihypernomials) Let $n \ge 0$ be an integer. Then

$$BhP_{n}(x) = \frac{\alpha^{n}(x)}{\alpha(x) - \beta(x)} \left(1 + j_{1}\alpha(x) + j_{2}\alpha^{2}(x) + j_{3}\alpha^{3}(x) \right) - \frac{\beta^{n}(x)}{\alpha(x) - \beta(x)} \left(1 + j_{1}\beta(x) + j_{2}\beta^{2}(x) + j_{3}\beta^{3}(x) \right),$$
(14)

where $\alpha(x)$, $\beta(x)$ are given by (1).

Proof. Using (2) and (11) we obtain

$$BhP_{n}(x) = P_{n}(x) + j_{1}P_{n+1}(x) + j_{2}P_{n+2}(x) + j_{3}P_{n+3}(x)$$
$$= \frac{\alpha^{n}(x) - \beta^{n}(x)}{\alpha(x) - \beta(x)} + j_{1}\frac{\alpha^{n+1}(x) - \beta^{n+1}(x)}{\alpha(x) - \beta(x)}$$
$$+ j_{2}\frac{\alpha^{n+2}(x) - \beta^{n+2}(x)}{\alpha(x) - \beta(x)} + j_{3}\frac{\alpha^{n+3}(x) - \beta^{n+3}(x)}{\alpha(x) - \beta(x)}$$

and by simple calculations the result follows.

In the same way, using (3) and (12), we obtain the next theorem.

Theorem 9. (Binet type formula for Pell-Lucas bihypernomials) Let $n \ge 0$ be an integer. Then

$$BhQ_{n}(x) = \alpha^{n}(x) \left(1 + j_{1}\alpha(x) + j_{2}\alpha^{2}(x) + j_{3}\alpha^{3}(x) \right) + \beta^{n}(x) \left(1 + j_{1}\beta(x) + j_{2}\beta^{2}(x) + j_{3}\beta^{3}(x) \right),$$
(15)

where $\alpha(x)$, $\beta(x)$ are given by (1).

Using Binet type formulas for Pell and Pell-Lucas bihypernomials we can obtain Catalan type identity, Cassini type identity and d'Ocagne type identity for Pell and Pell-Lucas bihypernomials.

For simplicity of notation let

$$\hat{\alpha}(x) = 1 + j_1 \alpha(x) + j_2 \alpha^2(x) + j_3 \alpha^3(x),$$

$$\hat{\beta}(x) = 1 + j_1 \beta(x) + j_2 \beta^2(x) + j_3 \beta^3(x).$$

Consequently we can write (14) and (15) as

$$BhP_n(x) = \frac{\alpha^n(x)\hat{\alpha}(x) - \beta^n(x)\hat{\beta}(x)}{\alpha(x) - \beta(x)}$$
(16)

and

$$BhQ_n(x) = \alpha^n(x)\hat{\alpha}(x) + \beta^n(x)\hat{\beta}(x).$$
(17)

Moreover,

$$\begin{aligned} \alpha(x) \cdot \beta(x) &= -1, \\ \alpha(x) + \beta(x) &= 2x, \\ \alpha(x) - \beta(x) &= 2\sqrt{x^2 + 1}, \\ \alpha^3(x) + \beta^3(x) &= (\alpha(x) + \beta(x))^3 - 3\alpha(x)\beta(x)(\alpha(x) + \beta(x)) = 8x^3 + 6x, \end{aligned}$$

and

$$\begin{aligned} \hat{\alpha}(x) \cdot \hat{\beta}(x) &= \hat{\beta}(x) \cdot \hat{\alpha}(x) \\ &= 1 + j_1 \beta(x) + j_2 \beta^2(x) + j_3 \beta^3(x) + j_1 \alpha(x) - 1 - j_3 \beta(x) - j_2 \beta^2(x) \\ &+ j_2 \alpha^2(x) - j_3 \alpha(x) + 1 + j_1 \beta(x) + j_3 \alpha^3(x) - j_2 \alpha^2(x) + j_1 \alpha(x) - 1 \\ &= j_1 \left(2\alpha(x) + 2\beta(x) \right) + j_3 \left(\alpha^3(x) + \beta^3(x) - \alpha(x) - \beta(x) \right) \\ &= j_1 \cdot 4x + j_3 \left(8x^3 + 4x \right). \end{aligned}$$

Theorem 10. (Catalan type identity for Pell bihypernomials) Let $n \ge 0$, $r \ge 0$ be integers such that $n \ge r$. Then

$$BhP_{n-r}(x) \cdot BhP_{n+r}(x) - (BhP_n(x))^2$$

= $\frac{(-1)^{n-r+1}((x+\sqrt{x^2+1})^r - (x-\sqrt{x^2+1})^r)^2}{4x^2+4} (j_1 \cdot 4x + j_3 (8x^3+4x)).$

Proof. By formula (16) we have

$$BhP_{n-r}(x) \cdot BhP_{n+r}(x) - (BhP_{n}(x))^{2}$$

$$= -\frac{\alpha^{n-r}(x)}{\alpha(x) - \beta(x)} \hat{\alpha}(x) \frac{\beta^{n+r}(x)}{\alpha(x) - \beta(x)} \hat{\beta}(x) - \frac{\beta^{n-r}(x)}{\alpha(x) - \beta(x)} \hat{\beta}(x) \frac{\alpha^{n+r}(x)}{\alpha(x) - \beta(x)} \hat{\alpha}(x)$$

$$+ \frac{\alpha^{n}(x)}{\alpha(x) - \beta(x)} \hat{\alpha}(x) \frac{\beta^{n}(x)}{\alpha(x) - \beta(x)} \hat{\beta}(x) + \frac{\beta^{n}(x)}{\alpha(x) - \beta(x)} \hat{\beta}(x) \frac{\alpha^{n}(x)}{\alpha(x) - \beta(x)} \hat{\alpha}(x)$$

$$= \frac{\alpha^{n}(x)\beta^{n}(x)}{(\alpha(x) - \beta(x))^{2}} \hat{\alpha}(x) \hat{\beta}(x) \frac{2\alpha^{r}(x)\beta^{r}(x) - (\beta^{r}(x))^{2} - (\alpha^{r}(x))^{2}}{(\alpha(x)\beta(x))^{r}}$$

$$= \frac{(\alpha(x)\beta(x))^{n}}{(\alpha(x) - \beta(x))^{2}} \hat{\alpha}(x) \hat{\beta}(x) (-1) \frac{(\alpha^{r}(x) - \beta^{r}(x))^{2}}{(\alpha(x)\beta(x))^{r}}$$

$$= \frac{(-1)^{n-r+1}(\alpha^{r}(x) - \beta^{r}(x))^{2}}{(\alpha(x) - \beta(x))^{2}} \hat{\alpha}(x) \hat{\beta}(x),$$

so the result follows.

Theorem 11. (Catalan type identity for Pell-Lucas bihypernomials) Let $n \ge 0$, $r \ge 0$ be integers such that $n \ge r$. Then

$$BhQ_{n-r}(x) \cdot BhQ_{n+r}(x) - (BhQ_n(x))^2$$

= $(-1)^{n-r}(\alpha^r(x) - \beta^r(x))^2 \cdot \hat{\alpha}(x)\hat{\beta}(x)$
= $(-1)^{n-r}((x + \sqrt{x^2 + 1})^r - (x - \sqrt{x^2 + 1})^r)^2 (j_1 \cdot 4x + j_3 (8x^3 + 4x))$

Note that for r = 1 we get the Cassini type identities for Pell and Pell-Lucas bihypernomials.

Corollary 1. (Cassini type identity for Pell bihypernomials) Let $n \ge 1$ be an integer. Then

$$BhP_{n-1}(x) \cdot BhP_{n+1}(x) - (BhP_n(x))^2 = (-1)^n \left(j_1 \cdot 4x + j_3 \left(8x^3 + 4x \right) \right).$$

Corollary 2. (Cassini type identity for Pell-Lucas bihypernomials) Let $n \ge 1$ be an integer. Then

$$BhQ_{n-1}(x) \cdot BhQ_{n+1}(x) - (BhQ_n(x))^2$$

= (-1)ⁿ⁻¹(4x² + 4) (j₁ · 4x + j₃ (8x³ + 4x)).

Theorem 12. (d'Ocagne type identity for Pell bihypernomials) Let $m \ge 0$, $n \ge 0$ be integers such that $m \ge n$. Then

$$BhP_m(x) \cdot BhP_{n+1}(x) - BhP_{m+1}(x) \cdot BhP_n(x)$$
$$= \frac{(-1)^n \left(\alpha^{m-n}(x) - \beta^{m-n}(x)\right)}{\alpha(x) - \beta(x)} \hat{\alpha}(x) \hat{\beta}(x).$$

Proof. By formula (16) we have

$$\begin{split} BhP_{m}(x) \cdot BhP_{n+1}(x) &= BhP_{m+1}(x) \cdot BhP_{n}(x) \\ &= \frac{\alpha^{m+n+1}(x)}{(\alpha(x) - \beta(x))^{2}} \hat{\alpha}^{2}(x) - \frac{\alpha^{m}(x)\beta^{n+1}(x)}{(\alpha(x) - \beta(x))^{2}} \hat{\alpha}(x)\hat{\beta}(x) \\ &- \frac{\alpha^{n+1}(x)\beta^{m}(x)}{(\alpha(x) - \beta(x))^{2}} \hat{\beta}(x)\hat{\alpha}(x) + \frac{\beta^{m+n+1}(x)}{(\alpha(x) - \beta(x))^{2}} \hat{\beta}^{2}(x) \\ &- \frac{\alpha^{m+1+n}(x)}{(\alpha(x) - \beta(x))^{2}} \hat{\alpha}^{2}(x) + \frac{\alpha^{m+1}(x)\beta^{n}(x)}{(\alpha(x) - \beta(x))^{2}} \hat{\alpha}(x)\hat{\beta}(x) \\ &+ \frac{\alpha^{n}(x)\beta^{m+1}(x)}{(\alpha(x) - \beta(x))^{2}} \hat{\beta}(x)\hat{\alpha}(x) - \frac{\beta^{m+1+n}(x)}{(\alpha(x) - \beta(x))^{2}} \hat{\beta}^{2}(x) \\ &= \left(\frac{\alpha^{m}(x)\beta^{n}(x)(\alpha(x) - \beta(x))}{(\alpha(x) - \beta(x))^{2}} - \frac{\alpha^{n}(x)\beta^{m}(x)(\alpha(x) - \beta(x))}{(\alpha(x) - \beta(x))^{2}}\right)\hat{\alpha}(x)\hat{\beta}(x) \\ &= \frac{(\alpha(x)\beta(x))^{n}}{\alpha(x) - \beta(x)} \left(\alpha^{m-n}(x) - \beta^{m-n}(x)\right)\hat{\alpha}(x)\hat{\beta}(x) \\ &= \frac{(-1)^{n}\left(\alpha^{m-n}(x) - \beta^{m-n}(x)\right)}{\alpha(x) - \beta(x)}\hat{\alpha}(x)\hat{\beta}(x), \end{split}$$

so the result follows.

Theorem 13. (d'Ocagne type identity for Pell-Lucas bihypernomials) Let $m \ge 0$, $n \ge 0$ be integers such that $m \ge n$. Then

$$BhQ_{m}(x) \cdot BhQ_{n+1}(x) - BhQ_{m+1}(x) \cdot BhQ_{n}(x) = (-1)^{n+1}(\alpha(x) - \beta(x)) \left(\alpha^{m-n}(x) - \beta^{m-n}(x)\right) \hat{\alpha}(x)\hat{\beta}(x).$$

Theorem 14. Let $m \ge 0$, $n \ge 0$ be integers. Then

$$BhP_m(x) \cdot BhQ_n(x) - BhQ_m(x) \cdot BhP_n(x)$$

=
$$\frac{2(-1)^n (\alpha^{m-n}(x) - \beta^{m-n}(x))}{\alpha(x) - \beta(x)} \hat{\alpha}(x) \hat{\beta}(x).$$

Proof. By formulas (16) and (17) we have

$$BhP_m(x) \cdot BhQ_n(x) - BhQ_m(x) \cdot BhP_n(x)$$

$$= \frac{\alpha^m(x)\alpha^n(x)}{\alpha(x) - \beta(x)}\hat{\alpha}^2(x) + \frac{\alpha^m(x)\beta^n(x)}{\alpha(x) - \beta(x)}\hat{\alpha}(x)\hat{\beta}(x)$$

$$- \frac{\beta^m(x)\alpha^n(x)}{\alpha(x) - \beta(x)}\hat{\beta}(x)\hat{\alpha}(x) - \frac{\beta^m(x)\beta^n(x)}{\alpha(x) - \beta(x)}\hat{\beta}^2(x)$$

$$- \frac{\alpha^m(x)\alpha^n(x)}{\alpha(x) - \beta(x)}\hat{\alpha}^2(x) + \frac{\alpha^m(x)\beta^n(x)}{\alpha(x) - \beta(x)}\hat{\alpha}(x)\hat{\beta}(x)$$

$$- \frac{\beta^m(x)\alpha^n(x)}{\alpha(x) - \beta(x)}\hat{\beta}(x)\hat{\alpha}(x) + \frac{\beta^n(x)\beta^m(x)}{\alpha(x) - \beta(x)}\hat{\beta}^2(x)$$

$$= \frac{2\alpha^m(x)\beta^n(x) - 2\beta^m(x)\alpha^n(x)}{\alpha(x) - \beta(x)}\hat{\alpha}(x)\hat{\beta}(x)$$

$$= \frac{2(-1)^n(\alpha^{m-n}(x) - \beta^{m-n}(x))}{\alpha(x) - \beta(x)}\hat{\alpha}(x)\hat{\beta}(x),$$

so the result follows.

Theorem 15. The generating function for the Pell bihypernomial sequence $\{BhP_n(x)\}$ is

$$G(t) = \frac{j_1 + j_2 \cdot 2x + j_3 \cdot (4x^2 + 1) + (1 + j_2 + j_3 \cdot 2x)t}{1 - 2xt - t^2}.$$

Proof. Suppose that the generating function of the Pell bihypernomials sequence $\{BhP_n(x)\}$ has the form $G(t) = \sum_{n=0}^{\infty} BhP_n(x)t^n$. Then

$$G(t) = BhP_0(x) + BhP_1(x)t + BhP_2(x)t^2 + \cdots$$

Multiply the above equality on both sides by -2xt and then by $-t^2$ we obtain

$$-G(t) \cdot (2x)t = -BhP_0(x) \cdot (2x)t - BhP_1(x) \cdot (2x)t^2 - BhP_2(x) \cdot (2x)t^3 - \dots -G(t)t^2 = -BhP_0(x)t^2 - BhP_1(x)t^3 - BhP_2(x)t^4 - \dots$$

By adding these three equalities above, we will get

 $G(t)(1 - 2xt - t^{2}) = BhP_{0}(x) + (BhP_{1}(x) - BhP_{0}(x) \cdot (2x))t$

since $BhP_n(x) = 2x \cdot BhP_{n-1}(x) + BhP_{n-2}(x)$ (see (13)) and the coefficient of t^n , for $n \ge 2$, are equal to zero. Moreover, $BhP_0(x) = j_1 + j_2 \cdot 2x + j_3 \cdot (4x^2 + 1)$, $BhP_1(x) - BhP_0(x) \cdot (2x) = 1 + j_2 + j_3 \cdot 2x$.

Using the same method we give the generating function g(t) for Pell-Lucas bi-hypernomials.

Theorem 16. The generating function for the Pell-Lucas bihypernomials sequence $\{BhQ_n(x)\}$ is

$$g(t) = \frac{2 + j_1 \cdot 2x + j_2 \cdot (4x^2 + 2) + j_3 \cdot (8x^3 + 6x)}{1 - 2xt - t^2} + \frac{(-2x + 2j_1 + j_2 \cdot 2x + j_3 \cdot (4x^2 + 2))t}{1 - 2xt - t^2}.$$

At the end we will give the matrix generator of Pell and Pell-Lucas bihypernomials.

Theorem 17. Let $n \ge 0$ be an integer. Then

$$\begin{bmatrix} BhP_{n+2}(x) & BhP_{n+1}(x) \\ BhP_{n+1}(x) & BhP_n(x) \end{bmatrix} = \begin{bmatrix} BhP_2(x) & BhP_1(x) \\ BhP_1(x) & BhP_0(x) \end{bmatrix} \cdot \begin{bmatrix} 2x & 1 \\ 1 & 0 \end{bmatrix}^n$$

Proof. (by induction on n)

If n = 0 then assuming that the matrix to the power 0 is the identity matrix the result is obvious. Now suppose that for any $n \ge 0$ holds

$$\begin{bmatrix} BhP_{n+2}(x) & BhP_{n+1}(x) \\ BhP_{n+1}(x) & BhP_n(x) \end{bmatrix} = \begin{bmatrix} BhP_2(x) & BhP_1(x) \\ BhP_1(x) & BhP_0(x) \end{bmatrix} \cdot \begin{bmatrix} 2x & 1 \\ 1 & 0 \end{bmatrix}^n.$$

We shall show that

$$\begin{bmatrix} BhP_{n+3}(x) & BhP_{n+2}(x) \\ BhP_{n+2}(x) & BhP_{n+1}(x) \end{bmatrix} = \begin{bmatrix} BhP_2(x) & BhP_1(x) \\ BhP_1(x) & BhP_0(x) \end{bmatrix} \cdot \begin{bmatrix} 2x & 1 \\ 1 & 0 \end{bmatrix}^{n+1}.$$

Using induction's hypothesis we have

$$\begin{bmatrix} BhP_2(x) & BhP_1(x) \\ BhP_1(x) & BhP_0(x) \end{bmatrix} \cdot \begin{bmatrix} 2x & 1 \\ 1 & 0 \end{bmatrix}^n \cdot \begin{bmatrix} 2x & 1 \\ 1 & 0 \end{bmatrix}$$
$$= \begin{bmatrix} BhP_{n+2}(x) & BhP_{n+1}(x) \\ BhP_{n+1}(x) & BhP_n(x) \end{bmatrix} \cdot \begin{bmatrix} 2x & 1 \\ 1 & 0 \end{bmatrix}$$
$$= \begin{bmatrix} 2x \cdot BhP_{n+2}(x) + BhP_{n+1}(x) & BhP_{n+2}(x) \\ 2x \cdot BhP_{n+1}(x) + BhP_n(x) & BhP_{n+1}(x) \end{bmatrix}$$
$$= \begin{bmatrix} BhP_{n+3}(x) & BhP_{n+2}(x) \\ BhP_{n+2}(x) & BhP_{n+1}(x) \end{bmatrix},$$

which ends the proof.

ON CERTAIN BIHYPERNOMIALS RELATED TO PELL AND PELL-LUCAS NUMBERS 433

Theorem 18. Let $n \ge 0$ be an integer. Then

$\int BhQ_{n+2}$	(x) B	$hQ_{n+1}(x)$]_	$BhQ_2(x)$	$BhQ_1(x)$] [2x	1]	n
BhQ_{n+1}	(x) B	$hQ_n(x) \end{bmatrix} =$		$BhQ_1(x)$	$BhQ_0(x)$].[1	0	

Using algebraic operations and matrix algebra, properties of these bihypernomials can be found.

Author Contribution Statements All authors who have made significant contributions to the work are included in the author list, its order has been agreed by all authors.

Declaration of Competing Interests The authors declare that they have no conflict of interest.

References

- Bilgin, M., Ersoy, S., Algebraic properties of bihyperbolic numbers, Adv. Appl. Clifford Algebr., 30(13) (2020). https://doi.org/10.1007/s00006-019-1036-2
- [2] Bród, D., Szynal-Liana, A., Włoch, I., Bihyperbolic numbers of the Fibonacci type and their idempotent representation, *Comment. Math. Univ. Carolin.*, 62(4) (2021), 409-416. http://dx.doi.org/10.14712/1213-7243.2021.033
- [3] Bród, D., Szynal-Liana, A., Włoch, I., On some combinatorial properties of bihyperbolic numbers of the Fibonacci type, *Math. Methods Appl. Sci.*, 44(6) (2021), 4607-4615. https://doi.org/10.1002/mma.7054
- [4] Halici, S., On the Pell polynomials, Appl. Math. Sci. (Ruse), 5(37) (2011), 1833–1838.
- [5] Horadam, A. F., Minmax Sequences for Pell Numbers, In: Bergum G.E., Philippou A.N., Horadam A.F. (eds) Applications of Fibonacci Numbers, Springer, Dordrecht, 1996.
- [6] Horadam, A. F., Pell identities, Fibonacci Quart., 9(3) (1971), 245–263.
- [7] Horadam, A. F., Mahon, Bro J. M., Pell and Pell-Lucas polynomials, *Fibonacci Quart.*, 23(1) (1985), 7–20.
- [8] Horzum, T., Kocer, E. G., On some properties of Horadam polynomials, Int. Math. Forum, 25(4) (2009), 1243–1252.
- [9] Koshy, T., Pell and Pell-Lucas Numbers with Applications, Springer, New York, 2014.
- [10] Rochon, D., Shapiro, M., On algebraic properties of bicomplex and hyperbolic numbers, An. Univ. Oradea Fasc. Mat., 11 (2004), 71–110.
- [11] Sobczyk, G., The hyperbolic number plane, College Math. J., 26(4) (1995). https://doi.org/10.1080/07468342.1995.11973712
- [12] Szynal-Liana, A., Włoch, I., On Pell and Pell-Lucas hybrid numbers, Comment. Math. Prace Mat., 58(1-2) (2018), 11–17. https://doi.org/10.14708/cm.v58i1-2.6364
- [13] Szynal-Liana, A., Włoch, I., The Pell quaternions and the Pell octonions, Adv. Appl. Clifford Algebr., 26 (2016), 435–440. https://doi.org/10.1007/s00006-015-0570-9
- [14] Szynal-Liana, A., Włoch, I., Hypercomplex Numbers of the Fibonacci Type, Oficyna Wydawnicza Politechniki Rzeszowskiej, Rzeszów, 2019.